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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3 : R 797 % a7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

1. F=fofeg § 9 f9-T1 dFeEs a|
gfraied dew & gE 7@ e ?

(1) =™ H +E|
(2) u¥E 1 e
(3) TR A1
(4) MBI @ E|

2. ‘HamHdh gE q= H gEvYH fHEA
g fha 7
(1) %wei® T &b
(2) B0 wd g
(3) S wd i
(4) R @ g

3. frfefag & & @9-w1 Surm TR
AT qh ® FIEX P (AT HX
STl ARFM Al & g BROT &
MY & SO X e © °

(1) FRfISATOTE® SUFH
(2) FIBERI IIFH
(3) JafRTH FPRIAHD IUTH
(4) 9ETH IUH
4. ‘JQ AR GUET H FAIEH fhEA
TR @ ?
(1) FE e
(2) 2o Tdo YUMHEES
(3) T=aS =@ i
(4) UEda

Level-2/8106

1.

Which of the following is not the
main law of learning as prescribed
by Thorndike ?

(1) Law of Exercise

(2) Law of Effect

(3) Law of Readiness

(4) Law of Generalization

Who first introduced the word

'Emotional Intelligence' ?
(1) Fredrick and Kirk
(2) Henry and Peter

(3) John and Cronback
(4) Mayer and Salovey

Which of the following approach is
based on analysing the behaviour of
disabled child and find out the root
cause of his/her learning deficiency ?

(1) Psychoanalytic approach
(2) Behavioural approach

(3) Individualized
approach

instructional

(4) Multisensory approach

Who first introduced the concept of
"Latent Learning" ?

(1) Kurt Lewin

(2) E. L. Thorndike

(3) Edward Chace Tolman
(4) Pavlov

P.T.O.



[A]

10.

‘TEEEE & T A B o 7
(1) faferEm s+

(2) Sto Hto arzE

(3) T &

(4) TEqe AT

frefefe & @ @9-@ e
TER® T IaTT & 7

(1) TR (2) q@

(3) T8 (4) g

g6 d X F BN g of®

uRadw, e @ - ofawer

g 3 oo & o E 7

(1) qd srearere

(2) UsT fpsmRraen

(3) TTERITEI

(4) 9T:EY B

%mmw AP H FF A
?

(1) ‘TE TR H AT

(2) M R Bl AT

(3) ‘TE-AN T A ST

4) ' TBR H I

“TRYAREAT S M BFar o e &

gm? TR J B9 oY T aar

(1) 63 11a9

(2) 1282099

(3) 38 6Ty

(4) 187E §3 a9

frfafed & @ #W-a1 e @

e s 7eff e ?

(1) |iad # e

(2) Jafre = & Rsr

(3) Vet 1 uHETdr @ s

(4) [Aldse 9 9MMg SfBRATel @
Harel F fosTa
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[4]

10.

Who was the main propounder of
'functionalism' ?

(1) William James

(2) J. B. Watson

(3) Clark Hull

(4) Edward Tolman

Which of the following is example
of Innate Motive ?

(1) Award (2) Hunger

(3) Punishment (4) Incentives

In which stage of development, the
sexual changes that occur in the
child's body starts to appear ?

(1) Early childhood

(2) Later Adolescence

(3) Adulthood

(4) Puberty

What is the other name of classical

conditioning ?

(1) Type S conditioning

(2) Type R conditioning

(3) Type S-R conditioning

(4) Type U conditioning

What is age group given by Erikson

for the stage "industry vs

inferiority" ?

(1) 6to 11 years

(2) 12 to 20 years

(3) 3to 6 years

(4) 18 months to 3 years

Out of the following which is not

correct principle of 'Development' ?

(1) Principle of continuity

(2) Principle of individual difference

(3) Principle of uniformity of pattern

(4) Principle of proceeding from
specific to general responses



12.

13.

14.

. frefefeg & @ f-ar ‘omifeee @
are (eR) ‘<% 3| @Ol 3
9§ S ST 7

(1) HIBRAE

(2) gENER

(3) yEaE

(4) TReTCEaR
Frfifed & & B-a1 oD A
e P T FET 8 ¢

(1) GRS argar
(2) G qRuead
(3) STHIGLa™

(4) rgesiiaa

ded G PR gRE TOEe &
A 1 e foT SR T ?

(1) 8 ¥ 12 a¥ % AMY® AV a
Fradl & e

)4 8§ 8 q§ F AMGH AN a
Fradl & e

(3) 12 ¥ 15 ¥ % 9NES QAT a
Fraal & T

42 ¥ 4 7§ F qWGHE I A
Fraal & T

fr=ifoifeg & @ fN-a1 ‘TR @l
ik & fou @t s w9 © 7
(1) e > W@l - RUE —

OIRE]

(2) T — Jmte —» WRUE —
AT

(3) Tl — wRue — Wt —

Eelien]
4) T - ofaefe —» @™ —
BIECIED
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11.

12.

13.

14.

[A]

Which of the 'thoughts of school' in
Psychology is also called as 'Black
box theory' ?

(1) Behaviourism

(2) Structuralism

(3) Functionalism

(4) Gestaltism

Which of the following is not the
characteristic of Good Mental
Health ?

(1) Ability to adjust

(2) Emotional Maturity

(3) Self-confidence

(4) Intolerance

Scale I in Cattell Culture Free

Intelligence Test was prepared for
whom ?

(1) For 8 to 12 years
deficient person

mental

(2) For 4 to 8 years mental deficient
person

(3) For 12 to 15 years
deficient person

mental

(4) For 2 to 4 years mental deficient
person

Which of the following is the correct

logical order for 'process of creativity' ?

(1) Insight —  Preparation —
Incubation — Verification

(2) Preparation — Insight —
Incubation — Verification

(3) Preparation — Incubation —
Insight — Verification

(4) Preparation —  Insight —
Verification — Incubation

P.T.O.



[A]

15.

16.

17.

18.

19.

TR ® HF-9 qrEm & e,
gﬁwaﬁaﬁwawﬁmw
?

(1) 3R® AfasT™

(2) TE A

(3) ofiifsa weifas™

(4) fopraTEs TR

fF O & AgER aWE B
e # UR&eqAel h HHIM @l

qar difhsd Rl & SMYR W foER
H B QI I HT AT 8 °

(1) 092 a9
(3) 69 11T9

(2) 296ay
@) 1191538
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15.

16.

17.

18.

19.

Which of the following terms is not
related with the operant conditioning ?
(1) Insight

(2) Reinforcement

(3) Spontaneous Recovery

(4) Extinction

Who introduces 'Learning Disable’
word very first for the children
suffered from various learning
problems ?

(1) Heward

(2) Samuel Kirk

(3) Van Riper

(4) Birch

Which of the following Psychologist
is not supporter of views about
"Psychology as a Science of Soul" ?
(1) Plato

(2) Aristotle

(3) Descartes

(4) Wundt

In which branch of Psychology there
is a scope of study of Telepathy,
Rebirth etc. ?

(1) Physiological Psychology

(2) Clinical Psychology

(3) Parapsychology

(4) Developmental Psychology
According to Jean Piaget in which
stage child is able to understand
Hypothesis and getting thinking
ability on the basis of logical
statement ?

(1) Oto2years (2) 2to 6 years
(3) 6to 11 years (4) 11 to 15 years



20.

21,

22,

23.

24.

fr=ifoifeg & @ f9-a1 Ffas 99g
% e, S, A, Toeieer g
T STEHIT BT B 7

(1) AMIQEE! AR
(2) GSHIHS AN
(3) STAMNY A
(4) St AN

frefofeg & § @9-w1 afka @
YT ey R 787 91 1§ ?

(1) g

(2) FHATHSD

(3) WD

(4) TRE

S fEe & ogaR e faws
HTE QI AT w Y
e 8 7

(1) 0¥ 599

(2) 13918 a9

(3) 5T 8Ty

(4) 11313 a9

freifofeg & & ®F-a1 ofrm orem
TRl T T FE T’ ?

(1) coefienTer JHIiaan
(2) Wik STRear
(3) THIRYT TN
(4) STERmEr

THR AR Hadl ard Sl Bl s
qfeer 7 Bt B 7

(1) 509 60

(2) 36951

(3) 209 35

(4) 209 -
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[7]

20.

21,

22,

23.

24.

[A]

Which of the following Psychology
studies about man's thinking,
memory, language, perception etc. ?

(1) Humanist Psychology
(2) Cognitive Psychology
(3) Abnormal Psychology
(4) Clinical Psychology

Which of the following is not the
type of personality given by
Kretschmer ?

(1) Athletic

(2) Aesthetic

(3) Asthenic

(4) Pyknic

What is the age group for the moral
development stage "Heteronomy
Reciprocity" given by Jean Piaget ?
(1) Oto 5 years

(2) 13 to 18 years

(3) 5to 8 years

(4) 11 to 13 years

Which of the following is not the
characteristic of Learning Disabled
Children ?

(1) Perceptual effectiveness

(2) Emotional instability

(3) Disorder of attention

(4) Impulsivity

What is the 1.Q. Range of severe
mental retarded child ?

(1) 50to 60

(2) 36to051

(3) 20to 35

(4) below 20

P.T.O.



[A]
25

26.

27.

28.

29.

30.

. o # @N-S smen ¥ gum
?ﬁrﬁ%ws&r/ﬁwmﬁéﬁ
?
() 281499 (2) 15918 aY
(3) 10" 1299 (4) 19721

frfafag & @ @9-w1 g
feraT 1 WPR FET R ?

(1) fErd o

(2) g ferec

(3) TS v

4) @A foma

frfofeg & & #9-91 #=QsS

;;rﬁaﬁﬁﬁr Tfes & guds T8
?

(1) »rFe 2) f=l

(3) ot (4) TR Hid

‘AR % Yads diF I ?

(1) faferm s+

(2) faferm O

(3) fawen goe

(4) IR B¢

=g & @ d9-a1 a STRmRen

o’ O Gefg 7R ?

(1) TETHA ~ (2) TG

(3) HaT (4) Jrcared

‘I H HAT fHE g9 UgR @ S
g B ?

(1) ferpser

(2) g

(3) SR

(4) g

[8]

25.

26.

27.

28.

29.

30.

In which stage of development,
interest/friendship develops towards
same sexual groups ?

(1) 12to 14 years (2) 15 to 18 years

(3) 10to 12 years (4) 19 to 21 years

Which of the following is not the
type of Realistic thinking ?

(1) Convergent thinking

(2) Creative thinking

(3) Evaluative thinking

(4) Autistic thinking

Out of the following which
psychologist was not supporter of
'Humanist Psychology' ?

(1) Freud (2) Maslow
(3) Rogers (4) Arthur Combs
Who was the propounder of

'structuralism' ?

(1) William James
(2) William West
(3) Wilhelm Wundt
(4) Wilhelm Hunt

Which of the following component
is not related with the 'Motivation
Cycle' ?

(1) Need
(3) Emotion

(2) Drive

(4) Incentive

The 'emotion of fear' associated with
which basic instinct ?

(1) Repulsion

(2) Pugnacity

(3) Appeal

(4) Escape

Level-2/8106



[A]

AW -1l / PART - I
A7 (5=} wd i) / LANGUAGES (HINDI & ENGLISH)
[ &Y/ HINDI ]
e : =& 7971 % G 37 % [ qaq SfEd ey g
31. %9 a7 | deugEs AT H TAN 35. 77 w9 fawe g -
g ? (1) R B R asi = geas
(1) T ST Al 2 (2) T & A = g
(2) ST TET F A WA B (3) TE & R QT = TS
(3) T TG 4 =W @ (4) T & R qUSY = FwEvey
(4) Hies STTehe SoTET Sadl 2
36. TeTg BRAT 78T ©
32. ‘% W YR UE TE © (1) s
(1) fourgs R
(2) TH (3) g
) Fre= (4) TIferrT
(4) ST
o 37. qUI=ERCT & gfte |} §F7 T
33. ford fomca § Fre gieair o= B 7 0 i o - 2
(1) g @ 7 % - =i
2) fred 3) T, & - ag
(3) WX
@ B 4) 3, g - gt
s 38. o9 faeheq § ‘o1 SUERT &1 YGNT 78T

e R @ e @ gy faeed
gﬁﬂ'\f:

(1) ARt = A1 &% Qi

(2) MR = T (af) & dR

(3) geaem = gfeal & fow o™

(4) Siigear = Sl ) 41

Level-2/8106

g ® 7

(1) sTgEr
(2) ST
(3) IR
(4) Sgamte

P.T.O.



[A] [10]

39. ARii 3 § o7ger IE YT ¢ 43. i foeBT @ e q org7T gT ¢
(1) feR9= (1) B + 35 = Firg
(2) FASTHREST 2) gft + 3= = gi=
(3) et (3) AR + 3= = apefie
(4) Toumat (4) T+ 30 = WHIA
40. AMLEFATEH FAAH e AR GO 44. ‘TEA WRA & U AW 817
() ¥ 45 g& @ & 3= g @ A 5 g B ®
Il (1) IRomedes foparm
(2) ¥ § B FA B (2) wigH e
(3) @A el TR Ul BT Hebell (3) % B
g
! (4) foramdes ©sm
(4) 98 =med & % A Haa o TBN
45. TOT B 9 o7 e :
41, g IuHI-IRT wE g = ™
i (1) 8F + 3Nl = el
(D
(2) Y + b = A
(2) @& o .
(3) 99 + Sfdr = qarar
(3) &9 . .
(4) 9T + TG = HIE
(4) Greq
42. T8 w5 # @S @iy B g el
g7
(1) arfisax
(2) e
(3) STt
(4) goitqET
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46.

47.

48.

[11] [A]
[ S135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of the sentence 50. Choose the correct tense form :
which is incorrect : _
His newfilm is really worth Nanny died last wegk. She .........
a b o from cancer for some time. (suffer)
to be seen. (1) suffering
d
(1) a @) b (2) is suffering
(3) ¢ “4) d (3) had been suffering
Select the appropriate modal for the (4) suffers
expression given :
When ... we expect you ? 51. Select the appropriate modal for the
(possibility) expression given :
(1) may (2) will If you do that again you ........ be
(3) have to (4) dare punished. (threat)
Select the correct option (phrasal (1) may
verb) for the underlined word : (2) shall
Most of the patients respect Dr. John
. (3) can
for his kindness.
(1) payback  (2) zest for (4) ought
(3) make over  (4) look up to 52. Choose the correct option for the

49.

Choose the correct meaning of the
underlined words :

The baby monkeys ran every which
way.

(1) up
(2) straight
(3) in different directions

(4) down

Level-2/8106

following :

An  instrument for

earthquakes 1s :

detecting

(1) A Fathometer
(2) Lithoscope

(3) A Seismograph
(4) Cardiograph

P.T.O.
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53.

54.

55.

56.

Choose the correct meaning of the
underlined words :

It's a pity you don’t like football. But
each to their own.

(1) everyone has different opinions
(2) everyone has similar opinions
(3) each and all are same

(4) each one likes football

Choose the correct option to fill the
blank :

Immediately after the operation he
could see nothing vague
shadows.

(1) aslong as

(2) however

(3) but

(4) notwithstanding

Select the correct option (phrasal
verb) for the underlined word :

I don't know how we are going to
cope with the cold during winters.

(1) make up for

(2) put up with

(3) put down

(4) setup

Select appropriate preposition to fill
in the blank :

They walked the footpath
until they came to a bridge.

(1) into

(2) since

(3) along (4) in

[12]

57.

58.

59.

60.

Choose the correct tense form :

My car ........ for the third time since
I got it. (break down)

(1) break down
(2) has broken down
(3) was broke down

(4) has broken

Choose the part of the sentence
which is incorrect :

James is busy to prepare
a b C
tonight's dinner.
d
(1) a 2) b
3) ¢ 4) d

Choose the correct option to fill the
blank :

The room was empty ....... for a chair
in the corner.

(1) except
(2) and
(3) between

(4) behind

Select appropriate preposition to fill
in the blank :

The programme was broadcasted ......
the world.

(1) in
(3) onto

(2) off
(4) across

Level-2/8106
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[A]

HET -1/ PART -1l
qH 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

Ui aAfk™l P, Q, R, S X TH, T, R

M S & Bler 81 Q, T Rigww aw=

T&?f%mi?bﬂ Ffed § T 81 R
e § BleT 81 IFH A HF q9d

w%?

(DR 2) Q

3) S 4) P

dF demt 203 : 4 F oguE | B

gﬂ%aﬁaﬁrqﬁ%%m‘r @ g

(1) 14,21, 28
(3) 8,12, 16

2) 12, 18,24
4) 4,6,8

A, X & U E B, Y 3 9@ 81 X
M Z H 79 Y 8 = & |
%ﬁ:?r—waswmawwﬁw:@?
(1) B, Z & =@l 2
(2) X, Z® 91 2
(3) B, A®I T 2
4) Y, A® IF B

AR @ H A 1 R T e,
i a8 aRer Qe § geet 5 fl
Ior &1 Y a8 qd Rem § gt 2
Rl o 8, SE& 918 a8 JaX fasm
I geat 9 fdl s@ar 231 o a8
gRfE g @ e g @St © °
(1) 4 fpr (2) 5 fepelt

(3) 7 feprt (4) 9 fert

Level-2/8106

61.

62.

63.

64.

Among five persons P, Q, R, S and
T, T is shorter than R and S. Q is not
as tall as T but taller than one
person. R is shorter than one person.
Who among them is the tallest ?

(1) R 2) Q

(3 S 4) P

Three numbers are in the ratio 2 : 3 : 4.

The sum of their cubes is 33957,
then the numbers are :

(1) 14,21,28 (2) 12, 18,24
(3) 8,12,16  (4) 4,6,8

A 1is father of X; B is mother of Y.
The sister of X and Z is Y. Which of
the following statement is
necessarily not true ?

(1) B is the mother of Z.
(2) X is the sister of Z.
(3) B is the wife of A.
(4) Y is the son of A.

A person walks 1 km towards East
and then he turns to South and walks
Skm. Again he turns to East and
walks 2 km, after this he turns to
North and walks 9 km. Now, how far
is he from his starting point ?

(1) 4km (2) Skm
(3) 7km (4) 9km

P.T.O.
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65.

66.

67.

68.

69.

i e A O R 1 ) L

DHL, PTX, BFJ, .....
(I) CGK (2) KOS
(3) NRV 4) OVZ

12 969 Th ®E & T & F 18
R aa ¥ wafs 12 Raat ot a9 3

%maﬁm&qﬁrﬁmﬁﬁr

Fd H 10 gey o 8 Rear wre-wn
F FXI g fhe R 7 qor  ?

1

1) 6 @ 7
1

13— 4) 14
3) 32 4)
Teh Tl &l Bedl & gl B W 36
MG | fobaq ufcierd gfes &Rl ?
(1) 200% (2) 450%
3) 550% (4) 700%

T AR TF a8 B % 24 F FAO ©
T IE] & Td B SO S A9
FHAC &, A 9% B AE I ©

(1) %15 ) 217

(3) %18 4) 20

15 fkE & T g8 H, 7 R
Ted &, 8 SISl Ued ¢ oMK 3 &S A
W TE ed 8 fem el R
AR AT AT Ted § 7

(1) 0 2) 3

(3) 4 45
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[14]

65.

66.

67.

68.

69.

Find the next term of the following
letter series :

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV 4) OVZ

12 men take 18 days to complete a
job whereas 12 women in 18 days

can complete % part of the same job.

How many days will 10 men and 8
women together take to complete the
same job ?

1

(1) 6 (2) 75

1
ORER

4) 14

The radius of a sphere is doubled.
What percent of its volume is
increased ?

(1) 200%
(3) 550%

(2) 450%
4) 700%

A dealer sells an article for ¥ 24 and
gains as much percent as the price of
the article, then the cost price of the
article is :
(1) % 15
3) %18

2) %17
4) 320
In a group of 15 people, 7 read
Hindi, 8 read English and 3 read

none of these language. How many
people read Hindi and English both ?

(1) 0 2) 3
(3) 4 “4) 5



70.

71.

72.

73.

74.

R p T ¢ IRAT AW T g
?“ﬁ ptgds, @ p T g B
e g

() p=24=2@ p=tig=2
®) p=ti=3 @) p=tia=

A% uh FMiREd T # 3% Fay @
" #@ A I H@ THIE AN
101,50 &, @ S AN H G
g & foT aXa &7 fobaem & ?

(1) T50 (2) T 100
(3) T 125 (4) T 147

et @ ot § g@ e S BT
A, CD, GHL 7, UVWXY

(1) LMNO (2) MNO

(3) MNOP (4) NOPQ

Th TGS B Th BT 108° qUT AT
A BT IUEX 31 AN SEY Hin J
T H HM 3T B -

(1) 63° (2) 74°

(3) 84° (4) 96°

GTWH,WQT%WET%@TW
% S A B T, g B q@ @
R B TH, aﬁa%wﬁ@f
Rem & 3 7

(1) Iax-qieaH
(2) e

(3) aRr-gd
(4) I
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70.

71.

72.

73.

74.

[A]
If p and ¢ are rational numbers and
3445
3-45

and q are :

=p+q\/§, then value of p

=2 p=

(1) p= 5

g =

3) p= (4) P=7:9=

l\.)I\] \IIN

NI\] [\CNIEN|
N 9o

If the compound interest on a certain
sum for two years at 3% p.a. be
% 101.50, then what would be the
simple interest on the same sum for
same period ?

(1) 50
(3) X 125

(2) T 100
(4) T 147

Find the missing term of the
following letter series :

A, CD, GHL, ?, UVWXY
(1) LMNO (2) MNO
(3) MNOP (4) NOPQ

One angle of a quadrilateral is 108°
and the remaining three angles are
equal. Find each of the three equal
angles :

(1) 63°
(3) 84°

(2) 74°
(4) 96°

Amit is west to Prakash and North to
Sumit. Tarun is in East of Sumit.
Tarun is in which direction with
reference to Amit ?

(1) North-West
(2) South
(3) South-East
(4) North

P.T.O.



[A]
75

76.

77.

78.

79.

80.

. Ji& DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, @ CAR =?
(1) 3 (2) 6
(3) 8 4) 16
=T 9o & 77 He S i
69, 55, 26, 13, 5
(1) 5 (2) 13
(3) 26 4) 55
Iy =4 =§ G|

1 1 1
—t—t—=4, W x WA
2x 4y 4z
7 7
1) — 2) —
(D T (2) 17
7 7
3) — 4) —
(3) T 4) >3

80 f5Hl BN # UH @Sl YEH 60
fpet, 40 fobr ofey ger qer 9w g 20
feft i der &t i | I 51 wR e
=T H Sl 9 R

(1) 24 FRHT Ui geT (2) 30 fBHT Ui et
(3) 32 Tt Ui geT (4) 36 hH Ui get

30 Hi & GO & Uh Y Q) 90
H TS 0.80 H 9 g R W
24 H B TR B TEE B AR

TR FI TRDE B §HT 8 -
(1) 48 % 2) 728
(3) 156 17 4) 1921

& U # oo 9 B8R & 169
WM W T 3 [9HE T8 8 9
183 ®N W B MU ofvw §
A 113 wH W R foww
T B # X e W W R
et & fere At @S g @ !
(1) 41 (2) 42

(3) 48 (4) 49

q
e
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75.

76.

77.

78.

79.

80.

If DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, then CAR = ?
(1) 3 (2) 6
3) 8 4) 16

Find the wrong number in the
following series :

69, 55, 26, 13, 5
(1) 5 (2) 13
(3) 26 4) 55
If 2'=4"=8 and i+i+i=4,
2x 4y 4z
then the value of x is :
7 7
1) — 2) —
(D T 2) 7
7 7
3) — 4) —
3) T “4) >3

In a journey of 80 kms a train covers the

first 60 kms at 40 km/hr. and the
remaining distance at 20 km/hr. The
average speed for the whole journey is :

(1) 24 km/hr.  (2) 30 km/hr.
(3) 32 km/hr.  (4) 36 km/hr.

A swimming pool, 30 m long has a
depth of water 0.80 m at one end and
2.4 m at the other end. The area of
the vertical cross-section of the pool
along thezlength is: )
(1) 48m ) (2) 2m )
(3) 156 m 4) 192 m

Anil is standing at 16th position
from the left end in a row. Vikas is at
18th position from the right end.
Gopal is 11th from Anil towards the
right and 3rd from Vikas towards the
right end. How many persons are
standing in this row ?

(1) 41 (2) 42

(3) 48 4) 49



81.

82.

83.

84.

85.

fifiRaq & ¥ 8®e (HAFED) %
TR § B9 @R ?

(i) 98 P IURN H T8 BT 3
(i) 98 P IURN H TUOF HIT ol
(iii) T8 B SAEM H Gl B ol
7&7 F< H TI BT

(1) () AR (i)

(2) & (i)

(3) (@) 3R (iii)

4) (), (i) 3R (iii)

e § #El TR-aw faeiia fE
ST TR ?

(1) g (2) HreT

(3) TGTR (4) &9t

‘TR e Gl LHAC BRI &
fhg et d i T R 7

(1) BER (2) HE

(3) &dh (4) STl

‘TR TR STEEH!’ & T ®

(1) Sfo FIE Fad

(2) &t 7Y A

(3) Sfo HMEb T

(4) =t O AR

el omEe % SR # fAithd el

W @R i -

(1) aRamT & ga e B onE
gﬂ?ﬁ?{ ag | § wEga qls]
|

(3) 7& g= @@ A=A A< HE A
Teell Afea 2

&l IR YA

(1) %o (o7) @& B

(2) %I (9) T 2

(3) (81) AR (9) 3! T &

(4) (31) &R (39) 3 &
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81.

82.

83.

84.

85.

[A]
Which of the following are true
about the functions of HAFED ?
(1) It procures agriculture products.
(i1) It markets agriculture products.
(ii1) It supplies agriculture inputs.
Choose the correct code :
(1) (1) and (ii)
(2) only (i)
(3) (i) and (iii)
(4) (1), (1) and (iii)
Where in Haryana 'City-forest' is
being developed ?
(1) Murthal (2) Sohna
(3) Yamunanagar (4) Hansi

'Air Shuttle Service' has been started
from which city of Haryana ?

(1) Hisar (2) Karnal

(3) Rohtak (4) Ambala

The President of 'Haryana Sahitya
Academy' is :

(1) Dr. Kumud Bansal

(2) Sh. Manohar Lal

(3) Dr. Ashok Batra

(4) Sh. Rana Oberoi

Consider the following statements

about Minty Agarwal :

(a) Minty Agarwal, a native of
Haryana, is a Squadron Leader
in Indian Air Force.

(b) She is the first woman, who
received Yudha Seva Medal.

Choose the correct answer :
(1) Statement (a) is true

(2) Statement (b) is true

(3) Both (a) and (b) are false
(4) Both (a) and (b) are true

P.T.O.



[A]

86

87.

88.

89.

90.

: AT ST AT JieX AT
(1) siig # (2) ST H
(3) gHYT § (4) FoEA |
S 2020 H, oIfoReq # W/

HI-G TRUMGH B TR IRE &
WY X HHG A 4 7

(1) T (2) TN

(3) T (4) o

1857 & fa5ie & 99T FooK H A
I o1 ?

(1) STgea &t

(2) a1 SEYE

(3) TEHEA

(4) foara sl

HAMH & AU ARG B G
WM FaRYd ©

(1) oT<re fofet o

(2) IR it |
(3) HHae ol H
(4) o fo 7

G N § §8d aml ARdl @
RECIEEEE

(i) SfgEfd (i) e

(iii) FHEE (iv) 3=

7&7 F< H =TI BT

(1) (i) 3 (i)

(2) (i) 3 (iid)

(3) (@), (iii) 3 (iv)

@) (), (ii), (iii) 3 (iv)

[18]

86.

87.

88.

89.

90.

Ancient Bhawani Amba Mata temple
1s situated in :

(1) Jind
(3) Sonipat

(2) Ambala
(4) Kurukshetra

In January 2020, which of the
following Nagar Palika was raised to

the status of Nagar Parishad
(Municipal Council) ?

(1) Rania (2) Jhajjar

(3) Beri (4) Sirsi

Who was the Nawab of Jhajjar
during the uprising of 1857 ?

(1) Abd-ur Rahman Khan
(2) Nawab Shamsuddin
(3) Sadruddin

(4) Bisarat Ali

The original founding place of
Topara Inscription of Ashoka is
located in :

(1) Ambala district

(2) Yamunanagar district
(3) Kurukshetra district
(4) Kaithal district

Identify the rivers, which flows from
Mahendragarh district :

(1) Ambumati (i1) Dohan
(ii1) Kasavati (iv) Indori
Choose the correct code :
(1) (i) and (iii)

(2) (i) and (ii1)

(3) (1), (iii) and (iv)

4) (1), (i1), (ii1) and (iv)

Level-2/8106
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[A]

AT - IV / PART - IV
Te {35T<1 / HOME SCIENCE

3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

T § 39 & I @ Gen

...........

il B
(1) 18 2) 16
3) 20 4) 24

Aufera ANET o T s R
ST T B

(1) BgSl TE i e frfshear o
() @ 3 IR H e fear §

(3) faurrd werd & Qa9 @ IS
ferfereem &

(4) @o AR § oy H i
Terfebea

gmasmtﬁ%i%amﬁwmw

(1) T @ <1t @1 fwmion
(2) T&F AR § degEe
(3) T H Rl S H HEED
(4) IO T+l TR W

o7 @ w9 IRE ¥ oW 3-4 AT
gﬁaﬁ%a@qﬁwﬁaﬁmw

(1) FAET
(2) et

(3) IetEsH
(4) Afera

Level-2/8106

o1.

92.

93.

94.

Milk teeth in a baby are

number.
(1) 18 (2) 16
3) 20 4) 24

The 'Heimlich Maneuver' can be
used for :

(1) First Aid in Fracture
(2) First Aid in Heart Attack
(3) First Aid in Poisoning

(4) First Aid in Choking

Calcium performs the following
functions in the human body :

(1) Formation of bones and teeth
(2) Contraction of heart muscles
(3) Helps in blood clotting

(4) All options are correct

The yellow coloured liquid which is
secreted for 3-4 days from mother's
breasts is known as :

(1) Cholesterol
(2) Retinol
(3) Colostrum
(4) Carotenol

P.T.O.



[A]

95.

96.

97.

98.

99.

‘{ﬁo tﬁo 3o %:
(1) Fgics TN (GRIes

(2) FEA THMY IR

(3) FeTH Te FRaad

(4) BRG T Reargad

dio o o &1 Jer v gug TR
ST B 7

(1) 979 & 999

(2) 4 3R W

(3) 8 TR W

4) 1281 W

% I TEE B W B

...........

(1) dffeieeex
(2) M (o)
(3) g

(4) g

& A BNl & 39 Sfry 4

(1) PREAIFANTH TGN
(2) AEHISFINTH TGN
(3) ARSI WIGRH

(4) FREfa ZgaegaE

TH A BHE-AT HAEEEH A I
g ?

(1) TosiH
(3) eI

(2) G
(4) gaH
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95.

96.

97.

98.

99.

What is CPR ?

(1) Controlled
Resuscitation

Pulmonary

(2) Cardio Pulmonary Resuscitation
(3) Cardiac Pulmonary Revival

(4) Careful Pulmonary Revival

The vaccine of BCG is given at the
time of :

(1) Birth
(2) 4 weeks
(3) 8 weeks
(4) 12 weeks

fibres are the smallest

fibres.

(1) Polyester
(2) Silk

(3) Nylon
(4) Cotton

TB is caused by bacteria :

(1) Corynebacterium tuberculosis
(2) Mycobacterium tuberculosis

(3) Bordetella pertussis

(4) Clostridium tuberculosis

Which of these is essential Amino
Acid ?

(1) Alanine
(3) Glutamine

(2) Serine
(4) Leucine



100.

101.

102.

103.

104.

105.

GEU S99 H B anl Uh  HehMeh
S 31 76 fhEd A ® ?

(1) =ifeat (2) Sfar
(3) faurg (4) ®d%

.........

Th & WA H A feberl ARl Al
g7

(1) 5370 (2) 15 To
(3) 1/2 31 4) 139

T PG SR T B A A
ST o B ?

(1) Tt (2) S

(3) IER (4) gl

M H g8 adRr OEH XA @
F99is (Boiling Point) § S <@l
ST &, e

(1) S (2) GeEHHT
(3) 99 & U (4) Tid B

A I S (11 @9) F B

IH F @aE H AT gis e
e

(1) 40" 2) 50"

(3) 60" (4) 80"
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100.

101.

102.

103.

104.

105.

[A]

Measles is a childhood infection,

caused by :
(1) Ants (2) Bacteria
(3) Virus (4) Fungus

The most obvious function of clothing
is to provide and ......... .

(1) Warmth and Status

(2) Protection and Status

(3) Warmth and Protection

(4) Style and Warmth

One teaspoon of food weighs
around :

() 5¢g (2) 15¢g

3) 120z 4) 1oz

Which of these is known as grape
sugar ?

(1) Glucose
(3) Galactose

(2) Fructose

(4) Sucrose

The method of cooking which
involves temperature below boiling
point of the liquid is known as :

(1) Boiling
(3) Steaming

(2) Simmering

(4) Sauteing

Nalin is in late childhood (11 yrs).
The approximate height should be

around :
(1) 40" (2) 50"
(3) 60" 4) 80"

P.T.O.



[A]

106

107

108

109.

110.

111.

FUL B IHH THA ALK F AqE AW
% g ot aRwsen & SNt &, 98 © ¢
(1) davefm  (2) e

(3) fafsqT (4) AT

®fE (Mg 25 a6) H BMI 229 Bl
AT STIAR I 8

(1) ¥ a9

(2) F IO

(3) 3Mf¥F o

(4) Hrem

R 8 W A % 2N a e &
ST ST R

(1) I8 | X @ (proximodistal)
(2) Rreciimsd

(3) ARfReH

(4) sfeud

e A5 B A AW ©
(1) feaet (2) €ifes
3) 7d (4) Iz

= A BE W @ ad g @

ST Bl & 7
(1) ™ (2) T
(3) Ufferaeex (4) RS

YeqHeE BT, S99 STUE & URAd &
g %, (homeostasis) THRafT & B
7@ ‘gERafe B -
(1) 3THE
(3) He

(2) gait
(4) =
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106.

107.

108.

109.

110.

111.

Which finish is given to the fabric to
bring the fabric to normal width ?

(1) Calendering (2) Tentering

(3) Singeing (4) Bleaching

Riddhi's (age 25 year) BMI is 22.9.
What would you consider her ?

(1) Normal weight
(2) Under weight
(3) Over weight
(4) Obese

Development which starts from head
& progresses towards feet, is known
as :

(1) Proximodistal
(2) Cephalocaudal
(3) Narcissistic
(4) Oedipus

The basket weave is also known as :
(1) Twill (2) Satin
(3) Matty (4) Pile

Among the following, which fibre
needs dry cleaning ?

(1) Silk (2) Cotton
(3) Polyester (4) Nylon

To be healthy is to be in a state of
homeostasis with one's surroundings.
Here homeostasis means :

(1) Pleasure
(3) Balance

(2) Happiness
(4) Control



112.

113.

114.

115.

116.

Ja9% IGAA Bl © ¢
(1) X faQy FaEsR @R qar

(2) faQy f&cdigs IEa
(3) faQY HaEdR WA qar

(4) wrafires gRmst

q Ao 5 B gv § el 1-2 f&T
T T@T o 9%l 8, Hedl & :

(1) 9T& F@X Ao

(2) U 9 8 a Ao

(3) glaumsTeh o

(4) 99X A

S & wE, frg # feaer orfemt
A § 7
(1) 300
(3) 206

(2) 250
(4) 260
98 Jaeia {1y e a9 &

q9 % &, B o &
fRrgy @ ST 2

(1) 3500 7o
(2) 2500 7To
(3) 1500 7o
(4) 1000 7mo

FATEREGR Bl & -

(1) Tt & F4 4

(2) fqerfie @t &4 |

(3) @+t @@l #i HH 49
(4) &N S HH A

oooooooooo
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112.

113.

114.

115.

116.

[A]

Tertiary care is :

(1) Non-specialised consultative
health care

(2) Special secondary care

(3) Specialised consultative health
care

(4) First hand consultation

The foods which have a life span of
about few hours to 1-2 days are
known as :

(1) Semi perishable foods
(2) Non perishable foods
(3) Convenient foods

(4) Perishable foods

At the time of birth, a baby has
approximately how many bones ?

(1) 300 (2) 250

(3) 206 (4) 260

An infant weighing less than
.......... at birth is considered to be
low birth weight infant.

(1) 3500 gm

(2) 2500 gm

(3) 1500 gm

(4) 1000 gm

Kwashiorkar is caused by :
(1) Calorie deficiency
(2) Vitamins deficiency
(3) Minerals deficiency
(4) Protein deficiency
P.T.O.



[A]

117.

118.

119.

120.

121.

..........

..........

(1) 9% T wieusia
(2) GHISTR T AU
(3) AIR® Td AHH

(4) 90 Tt IR G &

SME g oTfqatkadr e 3 —
g § UEr S A U

...........

CEIRY
(1) IR RSIRICED
(3) gmHEISTR (4) |

g ¥ P9-A e foee @& Oy &
& 7 ?

(1) SR fosm

(2) o fa=r|

(3) T

(4) JAARS® Fooll

ge H AR TE H IR § & &
9 IUYERI AR THESI T B

(1) oret farem

(2) T8l AT 8l
(3) 78T 91g HaH

(4) 3BT FEE

Te foee R

(1) 9rfaet @ eman

(2) dfea Harstt &l SmEr

(3) a9 MR el 1 TAUE AT

(4) IWFT a4 T 2
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117.

118.

119.

120.

121.

Games and sports play an important
role in and
development of the child.

(1) Mental and Motor
(2) Social and Motor
(3) Physical and Mental

(4) All options are correct

Attention — Deficit hyperactivity
disorder is a disorder among

children.
(1) Physical (2) Neurological
(3) Social (4) Speech

Which of the following is not a
specialization area in Home Science ?

(1) Food Science
(2) Garment designing
(3) Nursing

(4) Interior Decoration

One of the most effective ways to
protect ourselves and others from
illness is :

(1) Good Education

(2) Good personal hygiene
(3) Good Ventilation

(4) Good Housing

Home Science is :
(1) Branch of Humanities
(2) Branch of Fine Arts

(3) Comprehensive study of Science
and Arts

(4) All the above are correct



122.

123.

124.

125.

126.

REET & BN Widied  faenEes
R & APEAR Siavahi &l
et & fwfora fean B

(1) = ) ®:
(3) e 4) |

S % G9F A w G AN e @
g TF a9 & IHH SFPA do
& =R

(1) 4-5 fFomo

(2) 5-6 fEHodmo

(3) 9-10 oo

(4) 12-14 fpomro

IR AR H, T8 fOFE @ Fer S
T =

(1) =Y fese

(2) & fos

(3) yateer fasm

(4) s faem™

el & q e B 8 ¢

........

(1) @ (B))
(2) T (B,)
(3) ERF (Bs)
(4) afE K

R} & WA &l o= aar & ¢

(1) ST o H
(2) T oFd |

(3) ISt H
(4) foifers or T d
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122.

123.

124,

125.

126.

[A]

In Erikson's developmental theory
Life Span is divided into

stages.
(1) Four (2) Six
(3) Eight (4) Ten

Shelly's son weighed 3 kg at the time
of birth. What would she expect his
weight, when he is one year old ?

(1) 4-5kg
(2) 5-6 kg

(3) 9-10 kg
4) 12-14 kg

In the beginning, Home Science was
referred to as :

(1) Domestic Science

(2) Home Science

(3) Environmental Science
(4) Life Science

Cheilosis is caused by the deficiency
of :

(1) Thiamine (B;)
(2) Riboflavin (B,)
(3) Niacin (B3)
(4) Vitamin K

Proteins are broken down into
.......... in the body.

(1) Amino acids

(2) Fatty acid

(3) Glucose

(4) Linoleic acid
P.T.O.



[A]

127.

128.

129.

130.

U =S 31 Qe ) gRaT B ST
9 4§ feer fifme & dRE (T o)
I &l 8, Hea § ¢

(1) s =

(2) UTE ™

(3) T aEE T
(4) ST T

o1 U 85 ¥ty #feem 31 IS fou
P9 9K & a6 GiEd diey ?

(1) a&li § g Be =iey
2) FEF ¥ g a9k AW
ST

(3) Feg T & Ay TH Sied feoigd

(4) BE TTC A START FIS

el Hg WX SuWeRn fedl @ SR
FW@W%WWW
(1) T gl & TR

(2) FFemer @1 STfRRER

(3) T (FTr) Fr Serpr

(4) G & AHR

oqfad AE ¥ OSel, e, WeH,
ar, I, @Sl @@er u§ s o
IRR®  TEHd ® O B, TE
SMER el 2 ¢

(1) 99T
(2) G STER

(3) Ggferd RN
(4) 9o RIS
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127.

128.

129.

130.

The income consists of those goods
and services availed indirectly by a
family in which some medium of
exchange  (usually money) is
involved, is called :

(1) Money Income

(2) Direct Income

(3) Psychic Income

(4) Indirect Income

Ranjana is a 85 years old woman.
What type fabric should be
purchased for her ?

(1) The cloths should have hooks

(2) Easily washable
resistant

and stain

(3) A complex design with bold
colours

(4) Tight and unstretchable clothes

.......... assures that consumer
interest will receive due
consideration at appropriate forums.

(1) Right to basic need
(2) Right to seek redressal
(3) Right to be heard

(4) Right to safety

A right diet containing right amount
of energy, carbohydrates, proteins,
fats, fibres, minerals and water to
fulfil requirements of body is called :

(1) Nutrition

(2) Perfect diet
(3) Balanced diet
(4) Food pyramid
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[A]

How do you check firmness while
purchasing a fabric ?

(1) By holding the fabric against light

(2) Scratching or stretching the
fabric to check that threads do
not shift easily

(3) The fabric should not have
misprint or black areas

(4) By crushing the fabric at corner

of

primarily a part of :

Development concepts  is
(1) Emotional Development

(2) Intellectual Development

(3) Physical Development

(4) Social Development

Night-blindness can be removed by :
(1) Vitamin D
(2) Vitamin B
(3) Vitamin C
(4) Vitamin A

From birth until six months, the

infant's head is ....... than the chest.
(1) Smaller (2) Equal
(3) Half (4) Larger

Systematic mental capabilities are
almost developed in the age of :
(1) Formal operational age
(2) Concrete operational age
(3) Sensory motor age
(4) Preoperational age
P.T.O.
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This age is also called the 'dirty age' :
(1) 3 years of age

(2) 5 years of age

(3) Between 3 to 5 years of age

(4) Between 6 to 11 years of age

Mauli's grandfather told her that she
is in her 'Chatterbox age'. According
to you, which age it might be ?

(1) Toddlerhood

(2) Early Childhood

(3) Middle Childhood

(4) Late Childhood

The macro nutrients
carbohydrates, fats and :

(1) Proteins
(2) Vitamins
(3) Minerals
(4) Sugar

are

If a fabric is to have a smooth
finishing, which of the following is
suitable finish ?

(1) Sizing
(3) Bleaching

(2) Singeing
(4) Tentering

Which is a water soluble Vitamin ?

(1) Vitamin D
(2) Vitamin A
(3) Vitamin C
(4) Vitamin K
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[A]

The duration of Infancy is from :
(1) 2 weeks to 2 years

(2) Birth to two years

(3) 3 years to 6 years

(4) 7 years to 11 years

1 gram of fat gives how many calories ?
(1) 4 cal.

(2) 10 cal.

(3) 9 cal.

(4) 12 cal.

The weave used to make Cambric
clothis :

(1) Plain
(2) Basket
(3) Twill
(4) Satin

Haemoglobin is a type of .......... .
(1) Simple protein

(2) Conjugated protein

(3) Derived protein

(4) Incomplete protein

Digestion is defined as .......... .

(1) A process of converting food
into substance used by body

(2) Growth
(3) Cooking food

(4) Chemical reaction

P.T.O.
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This method is used when the stains
are soluble :

(1) Solvent Method
(2) Chemical Method
(3) Absorbing Method
(4) Suction Method

Brocades are the clothes made by :
(I) Leeno weave
(2) Dobby weave
(3) Gauze weave

(4) Jacquard weave

'Edible’ means :

(1) Poisonous

(2) Fitto be eaten
(3) Spiritual

(4) Part of building

A new born's weight generally

doubles by the age of ...... months.
(1) 2 (2) 6
39 4) 12

......... is the most common scheme
offered by all banks nationalized or
private. The account can be opened
single or jointly by individuals.

(1) Fixed Deposit

(2) Recurring Deposit

(3) Saving Account

(4) Monthly Income Scheme

Level-2/8106
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